EAGRAROBREERT — 2 N— ABISH —F

2019 11R17H (H) 5EFRZR6H

Ll o R 2 RESFI 48] B

‘ [R1%] & ‘ [REBB] — | & (%) 16000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 8 4 3 :750,000 @ 5 & :500,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N N M. F4—0O :38. — . . HEEH (=)
117114 TIWVFTAY —4— o2 55_07' 1(3_8)9 3-3 37.0| 87.6 1 (ﬁg) i
LANZ—b1—X B:T77—ZAFz7 FE%E
ElespG| :39. - . . EEE—RR (ER)
oMY 12| EALXTHY "2 e AN R AR (iﬁ) SHRE
L:7UF—v BiehaxTHY FrRLAS
KEHRIR : — BEHL (EH)
3 7| TATLAF Y2y o2 8 1(.33/51.)7 10-6 37.3]80.2 | 2 (5&2) e
RWN—5—y T B:T7AT7LHI /< b
. N 4 o2 | AfElE 1:39.8 2-2 38.1 | 77.1 6 400 | R (EH)
4 1| Py FahsnNo 55.0 (1/2) o |FEE
LNZ—ka1—X B:T74F7LR FEZX 2V K
S . 4 2 | ZHE 1:40.1 5-4 379|758 | 3 476 | BEE= (EH)
51510 2% e 2 55.0 (1 3/4) (-2) HpE
RNV IRTA 99 YT — BiAU—H— SUR S
s = o = S i 2 | IBEFLR 1:40.1 8-6 37.7| 76.6 | 15 | 456 | FEEAX (F#)
6/5/9|77AT 1770 55.0 7€) (+4) |FR (&)
L:VvRayrA4 B:JIRINE- [AE e
4 o2 | EBE 1:40.4 1-1 38.9| 71.8 | 4 490 | DUEELIEN (EH)
717113 TNy TTHIR 55.0 (1 3/4) (+4) Hh25ER
IR TFLY B:ST7FI by T SZvae]
B ISR 4 2 | AETR 1:40.5 15-14 37.3| 729 | 11 504 | /NEFRER (3E)
EE 3 Oy 75> R 55.0 (3/4) *+2) (%) MNEEXF—J I
R:gr7—3IU7> 8:7Y—n~F JBE EBR#
. . JIHERE 140. - . . NEAREL (3EH)
9lgligl 7FH—F 2 [B) o2 e 1(410)7 10-6 38.3]69.8 | 7 (4_4;) llﬂ\md;z;ﬁ
A TAIWNGTTFH— BALFEILTA MEZX %Y K
Py K # 2 | R 1:40.8 14-14 | 37.7| 70.2 | 13 | 468 |FOEHE—EB (X&)
10/ 1(1]7vF7z1hb %53.0 (172 o | AL 6=
R:JG4 7 T—IVEY B:F 9y RFafR HET77—L
¢ ) S5 45 s 2 | KAEE 1:41.2 8-11 38.4| 65.9 | 10 | 434 |MESEN (EH)
Hlilolanssv34 54.0 @ 1/2) © | 1R
L:Z2%—h77)0> B:S5TF45> Bliikae]
B 42 | HHEES 1:41.6 12-12 38.7 | 62.1 9 464 | M (GEH)
12l 8 | K~ h>b 55.0 2 1/2) () | YraEaEsi
RW=5—=29 7T BNYI—Fa—-> () tAaI-FRL -3 @EIT7
N # o2 | EEEZ 1:41.7 12-12 | 38.8] 61.0 | 5 482 | MTRER (i)
138 15| TH AT > 8.0 76) ) | L
Libh—trhRvLERY BHHLY—3F AH %
X 3 # o2 | AR 1:42.3 5-10 39.7 | 56.6 | 16 | 494 |XEFF—EB (5Eid)
14 5 ININF 72— )N — 55.0 (3 1/2) (+6) EllPN ]
R:xAT7o R—L B:XATIAIAL—X =k e
S, A # 2 | dERKR— 1:42.4 3-6 40.0 | 56.1 | 12 480 | BAIR (E)
15k 6| KIFT—4 54.0 (1/2) o | MEER
L:2%—h77)0> BY—2-T5Y AN
S = 4 o2 | BEEEETT 1:43.4 16-16 | 39.7 | 47.5 | 14 | 404 |iEKFER (E#)
160 4| VTN ERARZT 55.0 ®) 42) g
R:T—IVRI—X B:IHFIANRT—L hid  HEER
@ 71 L
) 50.7-37.4
NA>ZA4 L | 12.4-11.0-12.1-12.7-13.3-12.5-12.3-12.6
® I —F—@EBIERL
13—7+—
20—7—
Gal=7r= 13,11(6,14) (5,10)12(2,9) (7,16) (8,15)1,3=4
40—F— 13,11,14(10,12) (6,9,7,16)5,2(8,15) (1,3)-4
[ N3
H OB 14 320H 714K 12-14 2,100 e E 6-7 1,610M RPEL:] 7-12-14 6,480
BB 14 170M 7-14 370M B = 12-14 6,800 K31 14-12-7 40,180
12 720M 7-12 1,750 B H 14-12 9,400
7 130M4

ABRICOVTHRTEEERROODE, THEB LS,




